
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

5.693 × ________ = 56.93 1.855 × ________ = 1855

9.314 × ________ = 931.4 8.847 × ________ = 884.7

1.294 × ________ = 1294 2.665 × ________ = 266.5

6.511 × ________ = 6511 3.058 × ________ = 3058

3.685 × ________ = 3685 6.036 × ________ = 6036

2.127 × ________ = 21.27 5.325 × ________ = 5325

9.939 × ________ = 99.39 2.038 × ________ = 203.8

10.485 × ________ = 1048.5 8.656 × ________ = 86.56

2.21 × ________ = 2210 2.39 × ________ = 2390

1.499 × ________ = 1499 8.473 × ________ = 8473
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